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PART - A
SPOTTING ERRORS

Directions for the following 10 (ten) items :
Each question in this section has a sentence with three underlined parts labelled (a), (b)
and (c), Read each sentence to find out whether there is any error in any underlined par
and indicate your response in the Answer Sheet against the corresponding letter i.e., (a) or
(b} or (c). If you find no error, your response should be indicated as (d).

1. My [riend was  habitusal to drive acar  at very high speed. No error.

(a) (b) (€} (d}
7. Being a day of national mourning  the offices were closed
(a) (b)
and the national flag flew half mast.  No error,
(c)
3. IFyou are wanting ta watch the hifds: esting | you's ELfiot let them see you. No error.
® P— RN, 2 B | @

i "-j J;:-;;,v' ti}l'L s In“‘g U‘ﬂ‘l:_ Nn * :
«: k <:L Y & :‘?— {drm} >

(a)

s Itis most essential forus  to1 noon-lEsEwe should miss the train,
(a) (c)
No error.
(d)
6. 1 asked him what had brought  him there. No error,
(a) (b) (c) (d)
7 The guards dare not  to harm him.  No error.
(a) (b) (e) (d)
g, The Principal looks very worried
{a)
because students are on strike for the last fifieen days as a protest against
. (b) :
his disciplinary action against some miscreants.  No error.
(c) (d)

ADN-S-FS5T - A 2



g The king was embarrassed o find evidences  against his own queen.  No error.

(&) (b) (e} (d)

po. Aslprefer coffec thantea  my mends always take the trouble

(a) (b}
1o get me a cup of coffee whenever | visit them. No error.
(e) (d)
SYNONYMS

Directions for the following 5 (five) items :

11.

12. House rent in cities like Mumbai or .

Each item in this section consists of a sentence with an underlined word or words followed
by four words or groups of words. Select the word or groups of words that is most similar
in meaning fo the underlined word.

is a virlue for which
mﬂfﬂiﬁl Eastmgmerajarﬁ
admired. poT—-—".

I Ne. e vt enamoured of his own golden
vaice,

{a) wvery fond of
{(b) concerned with

Delhi has risen to astrenomical figures (¢) obsessed with

beyond the reach of even high-salaried : .

people. (d) imbued with

(a)  exorbitant 15. Some journalists are guilty of indulging
in yellow journalism.

(b) commercial (a) misrepresentation
(b} wvulgarization

(c) planetary

{c) sensational reporting
(d) illogical (d) loud gestures

3 A = ADN-S-FST
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ANTONYMS

Directions for the following 5 (five) items :

16.

17.

18,

Each item in this section consists of a sentence with an underlined word or words followed
by four words or groups of words. Select the word or group of words that is most nearly
opposite in meaning to the underlined word.

The culprit was sentenced by the Court. (b) cautious

(a) acquitted (¢} calculating

(b) punished (d) seasoned

(¢) relieved 19, 1 was prepared to show my hand provided
(d) pardoned he agreed to do the same.

Thrifty as he is, he can well afford to (8) to yield

live within his means. {(b) to shake hands

(a) careless & A¢) to conceal my plan

{b) instinctive % ﬁ} to lose my ground

{c) sentimental = 50 o

(d} extravagant w¥ee.

Do not give him & fespofisible jab,.
immature. 4 W [
(a) thoughtful

Directions for the following 10 {te

Each of the following sente
Select whichever word you consider most appropriate for the blank space and indicate vour
response on the Answer Sheet.

21. She has been lying in bed for the last 23, | feel for those who are cruel
lortnight. | hope she will ; to their children.
{a) come out (a) sympathy
(b) pull out (b) contempt
{c) pull through (e} admiration
(d) go out {d) craving
22, The path of progress 15 beset 24. Both the parties were keen to have an
difficulties. settlement of the dispute.
(a) with (a)} enviahle
(b) by (b) inimical
{c) through (e} worthy
(d) along (d} amicable

ADN-5-FST — A 4
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Directions for the jaﬂﬂwfugjv

31

| have come to know that the two 28. The belief in the of vaccina-

brothers have . tion is gaining ground.
(a) fallen through {a) immunity
(b) fallen out (b) prevalence
{¢) fallen for (¢) efficacy
(d) fallen short (d) workability
Everybody finds his own work 28 Oite e blsdiini e b
whereas he feels that others have b e S N g
delightful jobs.
haught
(a) tedious (a) % Eh Fud
(b fabulous () <o mf'ﬂ"
(¢) unprofitable (c) ﬂ'"“‘ﬁ‘!
(d) indecent S (d) dynamic
The aceident took place because of the . They found a world of between
criminal of the driver, % d% Avhat he said and what he did.
(a) performance S\ - _:’3“;&\ i

(d) slackness

Each of the following i consists of a sentence the pants of which have been
jumbled. These parts have been labelled P, 0, R and 5. Given below each sentence are four
sequences namely (a), (b}, () and (d). You are required to rearrange the jumbled parts of the
sentence and mark your response accordingly.

The statement  therefore you must listen carefully  what the speaker has said
P Q
in order to understand  will be made just once
14 N
The proper sequence should be
(a) SPRQ
(b SRQP
(cy RSPOQ
dy SPQR

5 A — ADN-5-FST



32. The small boy who broke his leg  fell down  and  climbed the wall

P Q R 5

The proper sequence should be

{(a) PSRQ

() SQRP

(¢} QSRP

(dy SPRQ

33. According to an engineer  might hit the markel next year
3
a newly developed air -cooler system  that employed in conventional room coolers
Q R

which is based on a principle radically different from

; : é -

=
The proper sequence should be \%%\
(1) SORP & .Q\i\\

ﬁ?ﬁ% ‘I ,,,,,,
() QSRP o 2 [
(d POQRS /v
34. The clerk on the -—-..-_:‘ have locked up

The proper sequence should
(8) SRQP

(b) QRSP
{c) PQRS
(d) QPSR

35. Hardly had my brother descended from the plane  when the people  waved and cheered
P Q

who had come to receive him  from the lounge
14 5

The proper sequence should be

(o) POQRS

(b) RSPQ

(c) RPQS

(d) PRSQ

ADN-S-FST - A 6



36, The essay like that of the human face  because its variety is infinite s a literary form
P Q e

which is not easy to define
S

The proper sequence should be
a) PQRS
(b) PQSR
(¢c) RSQP
(d) RSPQ

37. The exhibition committee  attractive and useful 10 make exhibition making efforts
R.

has been
5

The proper sequence should b ==
(0) QSRP \
() SRQP Q¢

© QPSR
{d) SPQR

Directions for the following 13 (thirteen) items :
Look at the underlined part of each sentence. Below each semence are given three possible
substitutions for the underlined part. [f one of them (a), (b) or (¢} i3 better than the underlined
part, indicate your response on the Answer Sheet against the corresponding letter (a), (b) or
{c). If none of the substitutions improves the sentence, indicate (d) as your response on the
Answer Sheet. Thus a “No improvement”™ response will be signified by the letter (d).

38. My old teacher gave many poor students money in spite of he was poor.
{a) even though
(b) asif

(e} however

(d} NO IMPROVEMENT

. A — ADN-S-FST



39, You should to read the newspapers regularly if you want to be well-informed.
{#) ought
(b} have to
(¢} should be
(d) NO IMPROVEMENT

40. If he had listening to me he would not have got lost.
{a) listened me
(b) listened to me
(e) listen me

(d) NO IMPROVEMENT

41. He asked for a bank loan alsp he didn’t @c ng:n: FESDUrCEs.
(a) because
(b) even if
(c) requiring

42. | went to the shop to buy
(a) stationery :
(b) stationary

(c) stationaries
(d) NO [h'l]‘RUVEMENI"

43. | have been waiting here for the last two hours,
{a) from
(b) since
(c) by
(d) NO IMPROVEMENT

44. The table needs to be painted.
(a) paint
(b) painting
{e) having painl
(d) NO IMPROVEMENT

ADN-S-FST - A ]



45,

47.

It began to rain heavily just when | prepare to go out.
{a} prepared

(b} was preparing

{c) have prepared

(d) NO IMPROVEMENT

The couple seemed to love one another very much.
(a) every other

(b) each

(c) each other

(d) NO IMPROVEMENT

It is high time that we did something. _

(s) had done %/*\é

(b) would do 2 \ ‘_
{e} have done L wﬁﬁ\\

) S i)
(d) NO IMPROVEMED (

If 1 were a millionair
{a) am capable of
(b) could have helpe
(¢) would help

(d) NO IMPROVEM

The training programme was extended for a month.
fa) from

(b) until

(c) since

(d) NO IMPROVEMENT

The painting which they were looking at was done by my sister.
(a) what

() that

(¢} whom

(d) NO IMPROVEMENT

A — ADN-5-FST
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PART - B

The following & (5ix) items consist of two
statements, Statement | and Statement ]I
Examine these two statements carefully and
select the comrect answer using the code given
below :

Code -

{a) Both the statements are individually
true and Statement [T 15 the correct
explanation of Statement 1

(b) Both the statements are individually
true but Statement 11 is aef the

comrect explanation of Statement |

Staternent 1 is true but Statement 1

: Too much salt content in
diet could be one of the

54, Statement [

reasons for kidney Falure.

Statement II : High salt may cause
high blood pressure.

55, Statement I : The city of Rome revived

mm & spectacular way in
the 15th century.

Staternent I1 - From the 15th cemtury
onwards, artists were
known individually by
name, not as member of

8 group or a guild, in

is false A ) ;
__ (Omm\\ e Romin society.
(4) Statement I is GBI Staemeibilmp ~ 0 g C
is true A 138 L . Bratewent 1 Chartism was the political
.d ' | ( E |~ peform campaign for
51. Statement [ Vanabihity | Piq | democratic nghts which
fall isv [ > 5 over  Britain
part of o between 1838 and 1848,
Statement I1 ;| Average Statement 1T ¢ The trade umion move-
15 extremel ment declined by the
western Rajasthan 18305 as it failed to fulfil
the aspirations of the
52, Statement | : Ozone is a tri-atomic working class.
molecule of oxygen.
5 57. ‘Sahel’ region of Sahara desert 15 asso-
Statement I1 ; Ozone 15 concentrated

mainly in stratosphere.

51. Statement | : The laterite soils develop

in areas with high
temperature and high
raimnfall.

: Laterite soils are the
result of intense leaching

Process.

Statement ||

ADN-5-FST - A

ciated with

{a) core area of Sahara desert

(5) southern moving edge of Sahara

desert

northern fringe of Sahara desert
bordenng Mediterranean sea

(c)

{d) another name of Sahara desert
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AT - B
frafafas 6 (@) wesl & 3 =99 S4, FUF 1 : FER H AWG I FI
w9 |3 WA 1| W Al s W AT A 0 B
AT wem Fif o AR R g FTEN B HEAT R |
O PR o 4 S N a1 : sl o A T o e A
T wwa # |
(@) G FYA EN-IE A B MR 55, ®9F | : TW AR TmEAl wanE) #
FaA 11, T | ] FE P # WA B # AW
AT |
(b) T w9 s @
m]l.mﬂﬂliﬂﬂﬁmﬁﬁw A 0 : SerAl sl 8@ i gEe
- @ ' AT T TR A weEE]

51, F99
AT o, S 1838 91 1848
I G B S
Fa 1 . =T W AT 5, 18305
FAFF T, FTA T T, ifE
ma atwaw i (Ffa #=m)
o R $ aiEE 0 A A
FEHH @ |
FH9 I . Ej;mwmlﬁiﬁ'm{ﬁ?ﬂ}ﬁ?ﬁ
wifgm # R | i
53, U | ; deEz gET IR A AW (a) TERT WIS 1 13 5
F=a afe At & # frefie (b) R FEEgE 5w At we
il (c) WEWT HERGE I, THE IR # HEm
Fom I : Arge mgEm A FrEwe FAT AT, T AT
A @ R | (d) FEW TEEGH T UH HH A
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58.

6l.

Which one of the following pairs of a
nver and 1tz tnbutary 1s mof correctly

matched 7

(a) Godavan Wainganga
(b) Cauvery . Bhavani
(¢) Narmada Amaravat
(d) Krishna - Bhima

In which one of the following countries,
the Mediterranean type of Biome s
found 7

(a) Chile
(b) Kenya

the census 2011 :
1. West Bengal
2, Bihar
3. Maharashitra
4. Andhra Pradesh

Select the comrect answer using the
code given below :

Y= e
A e TS S
e N G
g4 =

Match List T with List I and select the
correct answer using the code given
below the Lists ;

ADN-S-FST - A

12

Last 1
(River)

A_ Danube
B. Rhine
C. Rhone

D). Loire

Code :

= s

B. Cooling of water
vapour up (o

List Il
(Mouth of the
river)

1. North sea
2, Black sea

3. Bay of Biscay

4. Mediterranean
qef

n
3
1 2
3
2

2. Evaporation
3. Condensation

room (emperature

C. Cookmyg an egy

D, Formaton of

water vapour at

4, Sublimation

room lemperature

Code -

()
(b)
(<)
id)

A
4
4
2
2

B O O BB

R S R WS |
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S8.

59.

TS S IO WEEE el & fAetetEd g4l 1 I
ot 3 # FA-HT 0 T G AR 2 () (7t =0 T
(a) TR ;A A T L e ame
(b) A W B. 1A 2, I WO
(c) a1 ;o SEOEd C. M 3 Tk & wdl
(d) Fom ;o s D, wf 4. THET ATH
Foperfiefia 2eit # 41 Fen v & s e
WFHR F1 HEH I AW 7
(n) Feeit
(b) 0
(e) A
(d) =Tt
2011 = '
T 1 ZAE HeAt s

: Lsill
| wfeas wme (ufradm = w=w)
2 fomw 1. Tt
3, HEeg : 2. AT
4, i WA FA-AT T SAAT S
A9 fE o g W W A IR C.R®IFHI o
iF"“U Bt B | L
) 23— 1i=4 T AT F] A
B 3-2-1-4 %z :
T [ PG T S T e
@3-1-4-2 P T VI T
gt | F g 0% a gaka difio i R S
stz gt & 519 a8 T 52 % wwm = (o< T R T
HE T A 1 Tl St TR T

13 A — ADN-5-FST
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63. Identify the element having zero valency 67. Consider the following statements about
cacius |
(a) Sulphur

(b) Phosphorous I. The leaves are reduced to spmes.

(c) Lead 2, The stem does the photosynthesis.
(d) Radon Which of the statements given above
15/are comect 7
6. There are six electrons, six protons and
gix neutrons in an atom of an element. (a) 1 only
What is the atomic number of the
fa) &

& "éﬂ} Both | and 2

by 12 > %
W (D~ Neither 1 nor 2
fc) 18 N —=

@ 24 £~ N\ < of the following, methano-

65. Which one of the followin
number of molecules 7
normal temperature and |

(a) 3 gram of Hydrogen

(b) 48 gram ol Oxygen

(b} Aerohic environment

(e} Anaetobic sludge

(c) 42 gram of Nitrogen
: (d) Excreta of cattle
(d) 2 gram of Carbon

66. Combination of one volume of nitrogen 09, Malarial pavasite a5

with three volumes of hydrogen produces

(a) bactena
(a) one volume of ammonia
(b) two volumes of ammonia LD
(c) three volumes of ammonia (c) virus
(d) oneand a half volumes of ammonia (d) fungus

ADN-S-FST - A 14
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63. 9 HHEEA AR AF F HiAGERT
Hifan ;

(a)

(h) R

(c) wran

(d) %=
64, Tt 73 F o o # @ e, O

WITH T @ e # | 99 79 =5 WA

T W R 7

{a) 6

b) 12

{c) 18

@ 24

(c) 42 W ATEEEA
(d) 29\ FEA

66, AT & TF WEAA & AT wEp &
1A ST T A O S R Y
(a) FITaT 1 TF A
(b) I & B e
(e) ¥WIFI & A FTgaA
(d) i % 25 A

15

7. S & e # Feefatian woel w faEw
ifi -

|. gt FUFd B Fow AW T |
2. AT WS W S

S Tl # # wr o R

(a) FA

69, FertT-uasiE] v

a) ST (=EEf)
(b) SN

(c) fammy (mee)
(d) e ()

A — ADN-S-FST
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70. With reference 1o biodiversity, which of
the following statements i1s/are correct 7

L.

2

3I

Species tichness and high degree of
endemizm are important criteria for
identifying biodiversity hot spots.

Species diversity 15 highest in the
ropics and deoreases down the
poles.

Biodiversity conservation may be
in situ as well as ex sifi.

select the comect answer using lhe
code given below :

(a)
(b)
{c)
(d)

1 only
2 and 3 only
I, 2 and 3

land 3 only = |

T1. Itis difficult to kill vr

(a)
(b)
()
(d)

 /

consist of tough protein calp/ "

are very small in size }
lack cellular structure

spend a lot of time inside the host's
cells

72. When a ray of light enters a glass slab,

then
(a)
(b)
(c)
(d}

only the frequency changes
frequency and velocity change
frequency does not change
frequency and wavelength change

ADN-5-FST - A
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73. A ball is thrown vertically upward from
the ground with a speed of 252 m/s. The
ball will reach the mghest point of its
joumey m

(a) 5144

(b} 3:57s

{c) 2:57s

(dy 1-29%

(&)

(c)
(d)

. One kilowatt hour is equal to

36 = 10F joule

the physical quantity/
15/ are

energy and matier only

energy, momenium and matler

T6. Pressure is a scalar quantity because

{a)

(b)

()

(d)

it 15 the ratio of force to area and both
force and area are veclors

it 15 the rabo of magmitude of force
to area

it 15 the rato of component of force
(normal to area) to area

none of the above
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70, +3 fafdm & ool & Fefafaa s |
it A/H we R 7
I, 7T w0t 3% == Huit i wai,
s Pl F v e e
fem st wiee €
2wty fafeaar somrfeaay | it
et & i A gt = S e
A

3. oy e & a9 = = (W

itz) o o w9 (uE AtE) 6 R
el & |

ﬁiﬂﬁﬂﬂﬁm'ﬁmmﬁﬂﬁ

(b) ﬁmﬁa@#ﬁﬁ% d

(¢} o wfirda w5 e wen &

(dy I a7 FifEet # seafier v
e &

72, 79 wi v o w1 & e (=)
# wEy FAA 2, 71 g

(a) T gl =awdt @

(b) smata o ¥ #Eed

(¢) smefe el amea]

(d) gt s Fon-50d =gea o

73, T HE OOEA #, 252 m/s i wE § €E
FE 1 R T A # | TR A AT F
e fag W T v & ada 7

(a} 5143
(b) 3:57s
(c} 2-57s
(d} 1-29s

74, v e v fees soEc BT B 7
(a) 36 = 10° 97
‘ (o) 36 % 10° 59

76. ==, w wfthy i 2, FEifE

(a) T = 1, WA & AT A T,
A AR A SEEA ST Ao

(b) WE @F & gfo 1, #AFH FH A
HAE B

(¢) U% o= (8w & abeea) & 92w
1, ST F T9 AT &

(d) Jofer & @ % A9

A — ADN-S-FST
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77. A person is unable to read a newspaper
without his glasses. He is most probably
sulfenng from

{a) myoma

(b) presbyopia

astigmatism
hypermetropia

78. The free fall acceleration g mcreases
as one proceeds, at sea level, from the

cquator toward erther pole, The reason is

(a)
everywhere

(b)

(el
having its ﬁquamr.m] md|

(d)
having its equatonial radius smaller
than its polar radius by 21 km

79. Which one of the following statements

15 correct 7

(a) The measurement of mass taken by
a spring weighmg balance is correct
at the place where the spring balance
iz calibrated for

(b) The measurement of mass taken by

a spring weighing balance is cormect

at all places

ADN-5-FS5T - A

Earth 18 & sphere with same denm%\

\\

than its polar radms?? e
Firth i sirorimiEy s eioid

(¢} The measurement of mass taken
by a spring weighing balance is
cormrect at the places where the
acceleration due 1o gravity is same
with the place where the spring
balance is calibrated for

(d) A spring halance cannot be used to
measure mass at any place

80. Which one of the following is mot a
contact force 7

(a}
{b} Gravitational force

Push torce

-f (c)_Frictional force

fé}p:t of 1 newton acts on a
i ich 1s able to move freely,
s 1 the direction of

(b) acceleration of 1 m/s?
{¢c) speedof | m/s

(d) acceleration of 1 km/s®

Which of the following ilems is used
in the houschold wirings w prevent
accidental fire in case of short circuit 7

{a) [Insulated wire

{b)
fc)

Plastc switches

Non-metallic coatings on conducting
wires

(d} Electric fuse



77. O =it A 990 & T sree e TG (c) Pl =weeR g R few @

wa | Ja% el difes w9 & sfis ESrET S TS S99 21 O e w
AEAIE 7 % Wl w1 AETE T F6 T
TeE EAM % BEW B, W
(o). T FTrER e o A fe
(b) T Gl el
: (dy Pl TSI G 31 IR SEaaT
(S} S S R
(d)y wrEiE B C T

78, g AW, A A e @ A A AR O Wﬁﬁﬁﬂﬂmﬁ,ﬁﬁﬂmﬂ

forelt ot g A S o &, A A
?ﬂmgﬁﬁ?ﬁ‘ﬂm'Iﬁ | ST AT H & i% é (a) T =

=) liﬂﬁ 2 :ﬁﬂT WM\\ : 'R !

aﬁm:lmmﬁﬁﬁ | km/s =T & AT
(d) ﬁwﬁmtw (B) 1 mis & w0 & =@
T By, e gt P & s (¢} 1| m/se 919 & IHM
21 km 7 (@) 1km/e® 3 e #@ e
79, Freffam Fot 3 @ #9 @ ok aE ? 7 82. wgwa it 7 gl aw = e
F faat Fprfonfiam 9 @ o o g =1 v
(@) foft wieR g ww fed wiey Fsiell % e e (amafi) W f
EgHT T AT TE T 0T HE e 8 ey

sl & fog @9 SHEEe gen
srspver fiam T # (a) P aw

by Tt FHERER for (b)) TeEs e
“mﬁmmgfﬁmg@ (¢c) =Temn A1) 9% AT 7Y
T (d) Fore w7
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. Who among the following mvented the

83, Which of the following are the features BS. Subsidiary Alliance was a system devised
of the ideology of utilitarianism ? by
|, Utilitadians believed that all value (u) Lord Wellesley
derives from land

(b} Lord Dalhousie

2 The most celebrated spokesmen of
utilitanamsm were Jeremy Bentham (c) Lord Canning
and John Stuart Mall

(d) Lord Ripon

3. Utilnanans were advocales of the
idea that India could be rmuled
through indigenous laws and
IL'IIEI_IHIIE

86. Consider the following statements :

1. Periplus is a Greek word meaning
w,, : sailing around.

4. Utlitarians were advocates of thE
idea of the ‘greatest good @r
grestest number of FEDP]E

1 and 4 only

(a)
(b} 2 and 4 only

(e} 1,2 and 4 {c) Both 1 and 2

(d) 2 and 3 - (d} Neither | nor 2

87. Who among the following was defeated by
Saina Nehwal to win the women's title of

loom that revolutionized the cotto
powerloom that revolutionized the n i - Wiialian, “Opay Som | Birkes

textile industry ?

Badminton Tournament, 2016 ?
(a) Edmund Cartwright @y Sunth
A SOt Crmpoont (b) Carolina Marin
() Richard Arkwright {c) Wang Yihan
(d} James Hargreaves (d) Sung Ji Hyun

ADN-5-FST - A 20
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g3. frafafaa & & =t |, FwfirEms

P F aftmem & 7

|, Sttt @ frem o B ae
= g 3974 Bl #

2. FuaifmETe 3 59T v wE
S s S Wi el e Y

3, FumfirEd = e & wds @ f
HRA 1 Z9 FAT HE wEnEi ge
st fean an w2

4, FafiEmETE Hﬁﬂﬂﬂ‘tﬁ#m%

85, wETE A1 =Ee (WieRsOR UEe )

e g atetem f w9 7
(a) =TE ASF

(b) S ST

(c) T v

(d) =1E Rw

86. Fr=fafas ==t = faw $ifio .

1. e T Al () aeg ¢ T
1 ST e

FEm e & B S ﬂﬂﬂ# Q\ )*\ 1

. Tarreft ween (oreem), Fored ot s

% wif o T, ) @ feetaten ® 6
T & 7

(4) TEHE FTEOE
(b) R A
(c) Fewrsd e
(d) = i

21

H7.

@ 7@ 1,3 &2

#1AT FeATe A, e siA g dm

Stzfaen Az, 2016 % Afea faam e

% fom Frfafes § & F6 gemm o 7

(a) 9%
(b) DA AT

(c) =m faem
{d) A A

A — ADN-S-FST
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B8,

Conzider the following statements : 91. Which of the following statements
concerming Meditermanean climatic region

He was an Indian jowrnalis, editor ard WL s regl

author, He was associated with fhe

Statesman, the Guardian, the Times of I. It is found in the latitude range

fndia ete, He received the Rammnath a0° w 45° northemn and southemn

Goenka Lifetime Achievement Award in hemsphere

2003, He died in June 2016, / , ;
2. Mediterranean chimale experiences

The person referred to above 15 extreme temperature conditions

3. In Mediterranean chmate, ramnfall
occurs mainly during summer
SEAS0M

(a) B K Karanjia

(b) K M Mathew
4. In Mediterranean climate, rainfall is

(¢) Inder Malhotra & £ mamly due 1o Westerlies
%i’ = Select the comrect answer using the
(d) MNanasaheb Parulekar ,ﬁ S“h-‘\\ ﬁ*\ m\'en helow :
Achyut Lahkar,
{a)
(b)

(¢} mobile theatre Pmﬂtjt}“ order of their (ol area under forest

COVET :
{d) bureaucrat i q
Recently Microsoft announced its 26-2 L Chigtaged
billion dollar acquisition of which one of 3. Ammachal Pradesh
the followin fessional networking
sites 7 et 4, Madhya Pradesh

Select the correct answer using the
(b} PerfectBusiness (@ A=A—-1=1

b)) d=2=1-]
2L i ¢) 3-4-1-2
(d) Linkedln 1 T L e

ADN-S5-FS5T — A 22
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88. fr=fafam st o e Fifam .

7 UF WA TAET, HUEE UH A
& | ¥ T Roaia, T ik, 7 2 AT

e genfs # E 70 & | IER 20137
TAATT MARE] WITESRR SAEiEn
saTE we faFan @1 | IRt 57 A 2016

Fzk
Ty =ik & AW TR ¢

(a) S F FEET
(b) ¥ w Ha

00, T B # ATEEYe A fatatas syt
et wEn § ° e uE F 202 B
ot A siftmew o6 o S a2

(a) wEREHT
(b) ThzfaH
() TETEHTHIA
) fomem

23

(c) T weErH "%%’ﬁ

91. HHEHHNEG AREET WEWl & oAEw ®
Feffam s Ad st aaft & 7

|, A® I @9y etEr e # e
T 300 | 459 H WTE AT B

2. WEEETE A FeET A W0 AT Ry
il &

3 HEIHERE Aeed H, 990 §En
AT A & EE B #

4. ywEgEERG awag 4, Tl ge
TEE TN F FRW Sl 2

é ﬁ%ﬁﬁﬁﬁmﬂﬁ#ﬁ'ﬂﬁw

|, FeEE
2. BT
3. HeuES Wiy
.4.trm!:|‘i‘.,'ﬂ

A o @ FE @ W #ROUEl O
e .

(a) 4-3-2-1

b) 4-2-3-1

fc) 3—-4-1-2

d 2-1-3-4

A = ADN-S-FST
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93. Which of the following statements Code :
concemning  Scheduled Castes  (SC)

population in India are correct ? A B C D
I. The highest percentage of SC ety <Ea 3
population out of the total population B 2 | 4 3
of the state is found in Punjab
e 1 4 2
2. Bihar 15 the sacond largest state in :
respect of total SC population in Tndiz g 3 4 1 2
3, Uttar Pradesh has the highest number 95. Which one of the following species is
ol 8C population in lodia mof capable of showwng dispropor-
nonation reaction 7

4. Among the Indian states, the lowest (a) CiO~
percentage of SC population out of :

the total population of the state 13 % ) ClO;
found in Goa 7

Select the correct apswer |
code given below : £ < \

(a) 1, 2and3
(b) 1and3only

) 2and 4 only lonic bordi e directionl

(d)y 1,2and 4 J

(c) Both covalent and ionic bonds are

- directional
94. Match List | with List Il and select the (d} Baoth covalent and jonic bonds are
comrect answer using the code given non-directional
below the Lists :
97, When one strikes a safety match, the first
List | List 11 step is-
(Element) (Highest Valency)
{a) bummg elsulfur
SR ki (b} decompesition of potassium chlorate
) o) TR 7 S mto potassium chioride and oxygen
{c} conversion of a small amount of red
€. Lead 3. Two phosphorus into white phosphoms
D. Silver 4. Four (d) burmng of glue and starch

ADN-S-FST — A 24
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93. AHA A AT Flat (SC) F e wE
L % % % 3
| 775 W Fe T & § SC e e 2 L % 3
1 whrsrs Torm W wfierey O m {¢) 3 1 4 5
§ iy 3 4 ] 2
2 AR H SC wEE & fawg §
ﬁﬁﬂﬁ_ﬁfﬂaﬁww% 95. Frffm wivisr ® & s @ s,
AT Hfifer fomm # aad
3, WA ® SO FEEAT thi ST T g7
T AR W B (@) Clo-

ﬁﬁscaﬂmmwm% " (@) Clog

4, W T #, T AT T -é{h} T
-\~

(d) FERGEN A AR wvEw, wEl

gfefie #
04, T 1T A 1 il il qu gia
% T fem o g 7w W OEE IR 97. 5= #1E frae feomeed it = =1 39

fr - far e B, A e
il I P _
(7= (Few waiwET) (a) T T A
Xt e s (b) TSR weiz H1 T2l s
T HiEEtE § A
B. HiFREH -
G (c) ®T& WiewRmE H I G FH TH
. T 3.9 FRRRH #
D. =t 4 WK (d) W () T ™ = A

15 A — ADN-5-FST
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99, The genetic matenal of bactena is found m

98. The LPG cooking gas contains propanc 102, Fluoride toothpaste s sometimes

and butane as the constituents, A sulfur recommended because fuonde
contaiming compound 15 added 10 the LPG,

hecause (4) prevents plague formation

(b} hardens the enamel of the tooth
(c) lalls pathogenic bacteria
(d) prevents tooth ache

{(a) it lowers the cost of production
(b) it enhances the efficiency of LPG

{c) it facilitates casy detection of leakage

; i i
of the gas 103. Along a streamline flow of flus

o s i , {#) the velocity of all fluid particles at a
{d) it assists in hiquefying hydrocarbons b instant 8 Comatat

(b) the speed of a fluid particle remains

constant
(a) mnucleus & é[c} the velocity of all fluid particles
| cTOSSIg a given posilion i constant

o N

3,6

{c) cell

(d) nbosome

100. A horse and a don &

produce mule which is an (nfertilc’a
The infertility is because horse giad donkey |
belong to different
(a) class g (c) Remains constant
(d) Becomes gero
(b} order
. 105, A particle is executing simple hammaonic
(5}, pesies motion. Which one of the following
) statements about the acceleration of the
s oscillating particle 15 true ?
101. A plant having yellow leaves with dead (a) Itisalways in the opposite direction
spots has the deficiency of to velocity
ry (b) Itis proportional to the frequency of
&), Foomm oscillation
(b) Magnesium {c} Tt 15 munimum when the speed 18
: AKX ITILITY
(c) MNitrate

{(d} It decreases as the polential energy
{d) Phosphate INCreases

ADN-S-FST - A 26
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98, LPGENE 9 3 Ui ot =2 e &9 102, WS0eE g9 wee A Fi-SHl e

i B E | LPGH um wameh afi
fommn @ # Y

(a) TE FOIEA F AV HI T T R
(b} TE LPGH1 g5 it =70 &

O Ol A e B e
we # Aeg T 2

(d) U= ETEStEREAT 1 gia w A e 103.

AT 8

(a) FaF )*\
(b) EfarRT= u&\*
P——— %\\ ¢

100, T |ig] AR o ey
T © 9 O g T
Frwafalian @ & =il Fsan’
ST Bt # 7
{a)

) #A
(c) ifs
(d) =W

105.

101, Bt Tt & ot wfr an oA g (B2
wiz) fefefiae A & Fra i i & Fmow
ol A
(a) Tefirm
(b} iR
() A
(d) FIERE

27

e T AT R, FAE s
(8) TS F AAA W AT B

(b) =T F T W g wan #
(c) TAEAE AEMHA] F AWAT §
(d) =rat % &8 =i epam ww

frelt wee % W wEe & afew

(a) Bt Bivss am 9 g T 5o =
M vEEAE B B

(b)) T R arfe e e ot 8

_ {:‘4 ﬁ;ﬁﬁﬁmﬁrﬁnﬁlmmﬁm

~ T A T A O wen

F1E T 4 e wfa T | oA
= A wafte Feffas d d s o e
TR

(a) e ady dm £ fode fom ¥ S 2

(b) e S 1 ATl % A T

(c) = Wy sfteees B &, 7@ m®
AT B 2

(d) -8 s st s w0 R e
FH FhA1 e e

A — ADN-S-FST
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106.

7.

108.

Which one of the following four particles,
whose displacement x and acceleration a,
are related as follows, 18 executing simple
harmonic motion 7

(a) #,=+3x
() =+ 3
(c) a,=- 3"
) a.=-2x

If we plot & graph between volume V

and inverse of pressure P (iLe., J—:;} for an

ideal gas at constant temperature I, the % é

curve s0 obtained 1s
(@) strightline g |

(h) circle

{c} parabola
{d) hyperbola

correct 7

{a) The speed of sound waves m a
medium depends upen the elastic
propetty of the medium but not on
mertia property

(b) The speed of sound waves in a
medium depends upon the inertia
property of the medium but not on
elastic properly

(c) The speed of sound waves in a
medium depends neither on its elastic
property nor on its inertla property

{d) The speed of sound waves n a
medium depends both on elastic and

imerta properiies of the mediom

ADN-5-FS5T - A

o "-T“? gml‘udes of the velocity and tha

acceleration are equal. Then its ime penod

109. Which one of the following statements

i85 Maf correct 7

(a) Pitch of a sound is its charactenistic
by which we can generally differen-
tiate between a male voice and a
female volce

(b} The loudness of sound is related to ils
frequency

{c) A musical sound has certain well
defined frequencies which are
generally harmomcs of a fundamenial
frequency

{in seconds) 1s

ey £

(a)

(b)

§l&

1l

()

—a

@ 3

#
L
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106, Fr=ferfias s ot 8 4 3t 7y o, foe 109, Feafefias & # =7 o 0% S 78 75

107.

L0,

fawamam x ol = o, F12 fow g wEw @ g7
wafe #, o5 smad nfy o R 7

(@) a,=+3x (8) &f = aE= (=) @99 ==

sfirem 2 faed g =0 wawoEa
b)) a,=+ 37 TEN T a9 W R F # 6 g
(€) a;=_3x2 -Hﬁ--g-
(d) a=-3x (b) &t 3 wereraT Tadh gt & wEfia
Lanif
aﬁﬁnﬁ?ﬁmﬂﬂﬂﬁiﬁqmﬁﬂwiﬂ
ﬂwFﬁmP%wﬁ:ﬁw{mﬁ—r} (c) Tl w3 & 3w T
3 o= U 3 e =1, iﬂmﬁaﬁm% afifesa smafvm 2 # 5t amamomen
=% i wwr =1 2 ¢

4%\ 1 T Il R v o &
(a) A e Ny |
b) 3

i 38 1 ey - ot e & | s e ey @
il 1 ¢m 9T &, 99 3R =R F gfw agw
® | = S AT (A ) v @ e

2
(b Bt e # ey it A A, ® B
e & g end ww ffy e
B, 7w e o (b V3
(¢) e semm #f exfy st ) e A i
A WeAIEE OTEH T A A e ~
agra e v Frvfe e B (c) %
(d) Tt mem & = s i af
WTed 3 WEe, g ] 9 I
oy et @ @ 223
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111. Which one of the following statements
is mof comect ?

(a) The longest wavelength of hght

visible to human eye is about 700 nm

The shortest wavelength of light
visihle to luman eye 18 about 400 mm

(k)

(¢) The wavelength of gamma rays 1s

longer than that of X-rays

(dy The ability of a telescope to form

scparable images of close objects 15
called its resolving power

i12. If the image of an object, formed by a

concave mirmor 18 virtual, erect and
magnified, then the object is placed
n

(a)
(b)
(€)
(d)

al the principal focus

at the centre 4

-

113.

resistances are connect
total resistance will be

(a)
()
(c)
(d)

Which of the following was/were the
feature(s) of Lemn’s New Economic
Palicy (NEP) for the Soviet Union ?

. Private retail trading was sinctly
forbidden

2. Private enterpnse
forbidden

3/x

114.

was  srictly

ADN-5-F5T - A

S
A
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3. Peasants were not allowed to sell
their surplus

4. T secure liquid capital, concessions
were allowed to foreign capitalists,
bul the State retained the option of
purchasing the products of such
concems

Select the correct answer using the
code given below

(g) 1only
(b} 2and3
\;

(¢) 1,2and4

e follawing was/were the
he defeat of British duning the
g 'of Independence ?

of the American

=

and the lack of good roads

2. The Brtish authorities failed to rally
the loyalist Americans

3. The Amencans benefited from the
extraordinary military leadership of
George Washington

4. The Amencans had access
superior anms and ammunition

1o

Sclect the comecl answer using the
code given below :

(a) 1,2and4
ib) 3only
(¢} 2and3 only

{d) 1, 2and3
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111.

113,

113.

114,

fretafan @ @@ = w1 v w59 A= A

% -]

(a) a9 =t 5@ T2 A1 weRre
TAH o OET-a aneT 700 nm #

(by A = ] foEnd w2 ATET e
W HET we-Se A 400 nm &

(o) - feeemt o -, - fomo
o @ afts #

(d) @t w1, wie f s &
g o a wae d wfifass 9@
&1 T &1 @ T s e
&

awmﬂn%m?rﬁ ﬂﬂaﬁmqﬁm‘#ﬁuﬁﬂu
x ® | = g8 e ufie Aei wy § e
T el TR e WfAOS O ERn 7

{a) Jx

(by 3rx

(e) 9y

(@ 3x
ﬁiﬁﬁﬁa‘ﬂﬁﬁaﬂquﬁﬁrﬁﬁm#
fere st it w4 afels Aife (vwe) w1 /%
e @ /4 7

. st g = o A At .
2 Tt 3w il e ahE A

k3

3, wieedl & 39% wftem = &= &
Hauts ==t o1
8. W 4=t wiw % fm, Fesh
derferdi = s & o 6, W
T 7 8 wlee! & Sl # wied
# e s vE @ W
A 53 MW g2 w1 o s oA S
3 ;
(a) AW 1

(b) 23R 3

= @ @ = W wm = aE I
s

{a) 1, 2 &% 4

(b) w3

(c) Faw 2 3K 3

(dy 1,2 3% 3

A - ADN-5-FST
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116. The industrial revolution in England Which of the statements given above is/are
had a profound impact on the lives of correct 7
people. Whach of the following stalements
are correct about that ? {a) |only
1. Women were the mam workers n the ) 2y
silk, lace-making and kl'l]-.ltllIl_g (c) Both 1 and 2
industries

(d) Nemther 1 nor 2
2. Factory managers were well aware

of the health risks of mdustrial work 118. Who among the following was the author

o childemn of Meel Darpan, published in 1860 7
3. Children were often employed in (1) Reverend James Long
textile factories \

] Michael Madhusudan Dutta

Select the correct answer i
code given below : ;

(a) | and 3 only

(b) Bahujan Samaj

by 1 and2
(¢) Justice Party
(¢) 1,3 and4
(d) Satyashodhak Sama)
(d) 3 and 4 only .
120. Although used earlier by French and
Cierman  writers, the term ‘Indusirial
117. Consider the following statements : Revolution” in English was first popularized
by
1. Brtish colonialism continued to g
grow steadily in the |8th and 19th (a) Adam Smith
centurics
(b} Amold Toynbee
2. Raw cotton for the textile mdustry (c) James Mill
in Britain during the indusinal
revolution needed o be imported (d) Bertrand Russell

ADN-S5-F5T - A 32
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116. Tawz & sl & o w0 F st
e W 9ET | s = | efaRm g g
I W FE qE 7

. 9M, =8 M #N garE s |
nieaT W@ weaR i

2 79 W amEiE w3 F e
SR & = Gt g
TR | e o

1. W] F FE FEEE H T FW O
AT ST '

(b) 1 3% 2 J

{c) 1,3 3R 4

(d) =a=3 a4

117. Fr=fafts o w fimr il .

|, fafew  woffiEm st R
FETE] yrETEt # Faf ofy & e
A TR A

2. Twem 7 stnifices wifa & ghom s
wm & fom =9 97 w1 s =
LR

33

T w4 W A w0 W /R
(a) F

(b) e 2
(c) 1 #% 2 =+
(@ T & 1,7 72

[18. 1860 7 welim, ‘A =w’ =7 s
e aasm o 7

(a) T2 SR wiAT
, () HTEHS THHE a5

St AT U Ay Ry ar 2

(b) FEEA w
(e) wfeea o
(d) TEHHTHE HEIA

120, Tl Wit st A et g ‘s

fargym’ s = v wee e ma ar,
A A e e o wrwh
ST T 7

(a) TEH
(b) T ZrawN
(c) e fam
(d) ==

A — ADN-S-FST '
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121, In the 19th century, the majorily of the {a) Five years
workers in Japan's modem industries
were mainly (b) Four years
(a) Japanese men and children (¢) Three years
(b) Japanese women and Chmese men (@) Two years
(c) women

124. Which of the following siatements aboul

(d) Japanese and Chinese men Krishi Kalyan Cess (KKC) isfare comect !

1. KKC s calculated in the same way

122. Which of the following stalements as Service Tax 15 calculated.

regarding recent developments in imier-
national affairs is/are correct 7

. The current rate of KKC s 0-50%.

on of dwelling ,

settlers in & Palestinian neighbolre.
hood of East Jerusalem, :
Select tiie correct mmﬂr! ' [I:J za“ljjﬂ‘ﬂ!.!f'
code piven below :
d) 1onl
@ 1oaly (d} ¥
(b} 2only 125, Which country won the Thomas Cup

Badminton Championship, 2016
(c) Both | and 2

(a) Indonesia
(d) Meather | nor 2
(b) Denmark
123. As per the RBI guidelines, which one of Ching
the following is the minimum tenure of ()
Masala Bonds that an Indian company can |
issue nffshore 7 (d) Malaysia

ADN-S-FST - A 34
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121, FHmET Yt # A F el s 8 (a) wrg=d
aftrwtyr wonmE @A 4 7
(b) =
(a) WA 69 HiT == _
{c) HH =
(b) =Tt wigaTd ot S ey oo
d) @
(c) wfiami W
(dy ST St WA TE 124, Mt e Fwe (KKO) & = i
Frfafea w991 4 @ 5 @/% W
122, FACTE AT # B9 & SAEA & gan 2/E 7
# fr=fafea saat 3 & F4
2/ Men o8 |. KKC 3% war Tt e o
: fom wam oy F=w ofwfm e
I. NATO & %67 %41, @l & U6 e

fege T & W, @ F Rwe -
HAMR SR 56 TR W ¢Eﬁ@ é KKC =1 758 5% 0-50% #

Ty ™ ~ 1 y

| & \ P e
ol Ny P

= - .
>

i

| -
% )

HAH
i : 125, #fea 57 awties Sfmatien, 2016 Fra
(c) | 3k 2 ZF1 B9 A T A
@ 7@ 1,7 &2 (a) e
123, BBl & arfes fgmn & sqaw, w6 (b) Zaord
Fiet &1, e = wwdE F avEe | (e
ST S a7, Ao aEfa Pl |
& w9 ot o B 7 (dy wfr

35 A — ADN-S-FST
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126. Match List T with List II and select the
correct answer using the code given below
the Lists |

List]
(Ulira mega
power project at
different stages
of development)

Last 11

(State)

A, Sasan 1. Gujarat

B. Mundra 2. Madhya Pradesh
C. Tilaiya 3. Andhra Pradesh
. Krishnapattam

Code :

fal 32 4
b 3 4
el 2 1

I R TR SR

127. The world's largest biomass cookstove
system for cooking in community kitchen
has been installed at

(a) Tirupat

{b) Amiritsar
(¢) Shirdi

(d)y Udupi

ADN-S-FST - A
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128. Which one of the following sectors 1s
the larpest contributor to carbon dioxide
emissions from fuel consumption m India 7

(a) Elecineity and heat production
(b} Transport

(c) Manufacturing mdusiries and con-
structions

(d) Others

| per census 2011, which one of the
& following states has the highest number of

‘}.i:ll*?l‘('q:‘! )

=l [T g

(d) Maharashtra

130. The property of electric current which 15

applicable in the fuse wire 18

(a) chemical effect of current
(b) magnetic effect of current
{¢) heating effect of current

{d) optical property of cumment
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126. 1 11 3=t 11 3 it Fifem o af
& = fon 0 7 7 wAm A A E
T :

At aat il
(forrer & farfirm (wrem)
AU O AR W
oTER W)

A, TTEA LTITIEI
B. &1 2. 7 W3
C. fedan 3, 304 HRY
D. FOTIEH

L :

A
{a) 2 4
) 3 M |
e} 2 1 J
(e LR (R (i

127. avgefivs W # gefwar & fao faee 6
FEOw STATEI Fow WTE! a1 aeart 6
wE?

(a) foremfy
(b} I
{e) farcdt
(d) =g

a7

128, frfisfieer drest 3 &1 = ) o, W W
e @ | T It T
HaH AL ANETAEA B 7
(a) Prga s s g=amem
(b) TREEA
(c) Tafemio zem Fa7 Fef-ae

(d) =

émnﬁrm#w frmfetas
ﬁﬁﬁmqa:ﬂiﬁ‘gqtﬁﬁ*ﬁ

130, w1 a1 A fawp SRy w1 S 6 e Ay
BRIR 7

(a) HTT W1 TEEE WA
(b) =TT 1 qAFE WA
(¢) ETT K I WA

(d) T = e o

A — ADN-S-FST
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131. Which one of the following stalements

is mof correct 7

(a) The SI umit of charge is ampere-
second

(b} Debye is the unit of dipole moment

(e) Resistivity of a wire of length / and
area of cross-section a depends
upon both [ and o

(d) The kinetic energy of an electron of
mass m kg and charge ¢ coulomb,
when acceleraied through a poten-
tial difference of ¥ volt, is e} joule

132. Two balls, 4 and B, are thrown simul-

taneously, 4 vertically upwand with a speed
of 20 m/s from the gmund and B \tl,'@ﬂ]“
downward from a 'ru

collide by f
as 9-8 m/s* 7

(b) The balls will collide after
heighit of 201 m from the gra

(¢) The balls will collide after 1s at a
height of 15-1 m firom the ground

(d) The balls will collide after 3= at a
height of 20 m from the ground

133. The setting time of cement is lowered by

adding

{a) oxides of aluminium
(b) gypsum

{e) oxides of magnesium

(d) silici

ADN-S-FST - A

134. Emulsion 15 known as a

(a) colloidal solution of substances having
different physical states

(b} true soluton

(¢) disullaion mixwre for making
alcohols

(d) collowdal solution of two liguids

135. If one mixes up ashes with animal fat, the

substance received in the crude form s
called

{a) Pheromone

_. e of Aadhar cards in
western | fia is quite high and it is
ahuvt ‘:‘il} per cent m Gujarat

. The coverage rate of Aadhar cards 13
the highest in southern India and it is
almost 100 per cenl in the states of
Telangana and Andhra Pradesh

3, The penctration of Aadhar cards has
been very low in north-gastemn part of
India and it is the lowest in Assam
and Meghalaya

Select the correct answer usmg the
code given below |

{a) 2only

(b) 1 and 3 only
(¢) 2and3 only
@ 1,2and3
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131.

132.

133.

ffifes st # & A W o a

el & 7

(a) s F S1 e UiE-aEE #

(b) T oy st o e 2

(c) wH=T | 5R mwer qfse dEwd o
% s A it i [ ol g 5
7 frew = #

(d) FBEET m kg AT Y e FAW F
Tt mem F ofsw saf, 38 v
ez & fawar @ ve =fm w6
W, el T BRI E

G A B A, 4R T E

20 m/s = e § FEate 3o &) &ﬂ'{_aﬂl\
Biﬁtmm#ﬁ%mﬂt#ﬁ%@%

TEEI 7

P W o 0
(a) % T H 302 mEl SETY e
W £ |

=% 7Nl

(h) i FHA # 201 mE
TG ZEI

(c) % @A # 151 mFr 390 W 1s F
=G, ZE

(d) TR H 20 maT I W 55 & T
Eeouwil

i & aggs WA w1 five A w

s @ ¢

(a) Ul s v
(b) Fomm '

(c) Auifimm =1 #iwam
(d) Pk

134, sreve =1 o & # s W @ 2

(a) Tl it smenst o vem] =1
weTeet e

(b) ATETTEE Feam

(¢) TwIETs @A & fou smaas o

(d) A & FrAvE! e

135. afi ird 1s 1 9y == & wrr fwmm R A
ST € H T Y57 w9 e 2 7

(a) ‘Iﬁfﬂﬁ?
{h‘.r T

gﬂ) Hnfe

2. e i e ot gfRi- s i
weflirs & ot S T s wEw
Tt H g s 100 W &

3. W o -t W w5
U HEH &9 T § a9 S
#areg o 0% forems £

i fit @ g W owm A A e
ﬂﬁﬁ_:

(a) ad2

(b) =w | 3N 3

(¢c) Fae2 33

() 1,233

A — ADN-S-FST
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1-311

138.

Which one of the following is the correct 2. Isotherms are parallel to latitude in
descending order of countriés in terms of Southern Hemisphere in oceans
per capita availability of arable land 7

: : ! 3. Minimum temperature during winter
(a) India~ China — Brazil 15 recorded in Northemn Canada

(b} China — Brazil - India Select the correct answer using the

(¢) Rrazil — China — India code given below :
(d) Brazil - India — China (a) 1and2only
(b) 1 and 3 only
Match List T with List 11 and select the
correct answer using the code given below ) 1,2and 3
the Lists
List | List [T
(Geomorphic
Agent)
A, Ground water
B. Running water
C. Glacier
D. Wind & Meditern ean climatic regions have
; }ngh level of urbanization
Code
ot 3. Equatorial climatic regions have high

concentration of human population

A : ; * 4. Mediterranean climatic regions

T e practice plantation farming
fay 3 1 2 4 Select the comect answer using the
code given below !

dy 4 2 1 3
{a) 1and2 only

13, Which of the following statements

congerning temperature is/are correct 7 ) 1,2and3
. In winter season isotherms in (¢) 2and4
Northem Hemisphere are more or
less cireular on contiments idy 1 only

ADN-5-FST - A 40
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137. fr=iviian & & =i m v, v =l 5fh-

Ay il i I F =T W T
il erd

st el
R
Pl
ki

138, 31 151 et 11 & apterm Hifer ol gfea
% e Ry w22 W v o A e
i -

ek
i e |
A
D. T
o=

i

a) 4 | z 3
Myr 2 e
(¢ 3 E | 4
L | 3

o A
mfﬂmmﬁg&?

R T st i A 2
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TR I R e g—
e

3. 918 i 7 s st 9v) e
e iy

TIVAR D0 o A s
i -

S
TR S

O ksl g

A R s W owam W oed I
< .

B s
1
o B
(d_;lm]
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141. Which one of the following gases pives
acidic solution on dissolving in water 7

(a)

Hvdrogen

(b) Carbondioxide

(e

Nitrogen

(d} Oxygen

142, How many moles of hydrogen atom are
present in one mole of Aluminium
hydroxide 7

(a)
(b)

One mole

{E} Three moles 4514,:.“_-;;“_.? -

(d)

Fourmoles |

143, The United Nations puﬂaﬂmdﬁfﬂ# H’“ |

(a)
(b)
()
(d}

144, Who

International WIdnwgij_)aﬁr; -

International Day of Yoga

International Day against Drug Abuse
and Ilicit Trafficking

are Bhawana Kanth, Awvam

Chaturvedi and Mohana Singh 7

(@)
(b)
()

(d)

Sprinters
Rock climbers
Fighter pilots

Mountaineers

ADN-5-FST - A
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h .. > N
jﬂ. 'ﬁﬁkﬁhﬁﬂ of ﬂ\F: following statemenis

145. Consider the following staternents about
the Constitution of India :

1. A Member of Parhament enjoys

freedom of speech in the Parliament
as a Parhamentary Prowilege pro-
tected by the Constitution of India

The Constitution has vested the
power to amend the Constitution in
the Parliament.

Which of the statements given above
is/are correct ?

&{ﬁ?

@
§E

Eﬁ'.l

| omly

i t:mly

. '\*"

!*Tqi‘ﬂw.a;.l nor 2

" #hout the Union Executive in India is
carrect 7

(a)

(b)

()

()

According to the Constitution of
India, the total number of members of
the Council of Ministers cannot
exceed 20% of the total number of
Members of the House of the People

The rank of the different Ministers 1s
determuned by the President

The Ministers are appointed by the
President on the advice of the Prime
Minister

Only a member of either House of
Parliament can be appointed as 2
Minister
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141, Fe=fafaa # # =97 &t 5= § 997

142,

143, 7

144, 1

st e T @ 2

(a) ETEEA

(b) A AT

(c) AT

(d) ST

TN ETEEIHIES & U Aid A g
T 3 foet Wit e 2 8 7

(a) T
(b) B HiE
(c) it *Hw

43

145, 7T F 6fiye % 91 8 fefafes s
ﬂﬁﬁmﬁﬁm:

|. T Ew wew, de # sl &
AT I, W & 6
T HEfEE v weeE R &
w9 H Fa R |

2, gliaam A wfus =1 gsnfis =3 6
wfew aae # faftg it # |

T Al A & F W e 2

(a) ¥ & WEEW % wgaR, wfi-ofog
& WaEl 6 FH e, #i a
aEEdt H A HE F 20% A i
TRl B whAt

(b) Tl wfat 0 aeft (%) = frafo
Tty gr e e #

(c) wikat it frafer wam w= 61 womm
o, TEnf gy i at #

(d) o & fohel UF 5o F wEE = A
W=t % v # fagen foem o wa B

A — ADN-S-FST
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147. Which ene of the following siatements
aboul Money Bill is correct 7

(a) A Bill shall be deemed lo be a
Money Bill only if it provides for

impasition of fines or penalties

(b) A Money Bill shall be miroduced m
the Rajya Sabha

(¢) The Rajya Sabha can reject the
Monecy Bill

{d} The Speaker of the Lok Sabha finally
decides if it is a Money Bill, shuuld
any dispute about it anse

The power to allagate
amongsat the Minis

{¢) The power to summon the meeting of

the Cabinet

(d) The power to transfer a Mimster

from one Department to another

ADN-5-FST - A

149. The cylindrical stone seals were used in
which civilization 7

ja) Harappan
(b} Egypuan
(¢} Homan

(d) Mesopotamian

150. Which of the following stalements
with regards to the Civil Disobedience
movement is/are correct 7

1. The movement received massive

response from business groups and

e fiovement coincided with large
e Tabour upsurge in Maharashira

e 2 the correct amswer using the
mdegwanbelﬂw-

{a) 1only
(by | and 2 only
{c) 2 and 3 only

(dy 1,2and3
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147. = Taias & A A Foafafas #5085 149, Seemm e g 5 e B amm

T AT OF WAL R 7 o T star ar 7
(a) et frims 1 ow Rl T e (a) ==
& SR = T = |
(¢) T
(b) & P g o & qoenfia
Ein (d) FrereEm
(c) o T @ P A 50, s s sridver 5w B
HAT & Fa H B WA AR e 8%
() afs T an A 5 s aw w5 | T A & SOR BEE e
#tE 7 wm & g Feolrwmn e o £ ‘-ﬁﬁﬁ'ﬁﬂﬂﬂﬂiﬂmﬁfﬁm

() wfmeER &1 d5w w5 ga 1 9fy

(d) et wH1 &t s @ fd g
Al wol it arf @ 1,23R3
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